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Check whether your calculator is in degrees/radians!

1. Sketch each angle in standard position and note the quadrant where the angle lies. Label
the quadrant angles.
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2. Find one positive and one negative Cotermlnal angle for the glven ang}es.
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3. Convert from degrees to radians: 315°
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. Leave your answer in terms of pi.
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4, Convert from radians to degrees:

3 Show all work.
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5. State the complement and supplement of each angle if it exists

Show how vou got your answers!
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" 6. Find the indicated side or angle in the right triahgies below
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7. Find the exact values (simplest radical form) of the six trigonometric functions for 4.
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8. State the amplitude, period, and vertical shift of each of the following equations.
Inciude the direction of the shifts.
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9. Sketch the graphs of the following trigonometric functions. Be sure to include correct

labels on both axes. You must graph at least one period on the leftand

right side of the
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Determine the exact value of each expression {if it is originally in radians, work in radians;
if it is originally in degrees, work it degrees). Leave your answer in simplest radical form.

) sin(3007).

0
Reference Angle: (:7@ '

Quadrant: ﬁz
Sign(+/-): __— ~
3
Final Answer: @
c) tan [ 4”\)
‘ 3
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Reference Angle: 5

P

Quadrant: i

Sign (+/): T

Final Answer: \[TL

e) cot [%ﬂ]
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Reference Angle: (o
Quadrant: -
Sign(+/-}: _—___

Final Answer: (‘;%

b} cos Nz
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Reference Angle:

Quadrant: »:m“““

Sign (+/): 1
a
Final Answer: ot .
d}  csc30
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Reference Angle: ___.~0

A

Quadrant:
Sign (+/-): +
Final Answer: Q

f) sec(l35°)

Reference Angle: _ﬁ_

Quadrant: 1.
Sign (+/-):

Final Answer: \f;l






